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1[99 938 e 1,360 1,360 0
1.99H| 160 160 0
2. ANk F-F711) 1,200 1,200 0
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20228 A = M=o AE AN

2.8ty 4,100 2,450 1,650
LIz Ras 2,450 2,450 0
1.4 RkG=8-] 1,950 1,950 0

2. 995 275 500 995 E;i E%ﬁ@ig%ﬂgf% AR 995,000

3. 5 A A 100 225 0 225 ;;‘:’_) igﬁzf};fﬂ AFANBA) 225,000
2. [Z]FF R = -1 3] (54 1,650 0 1,650

1. guk4n) 1,650 0 1,650 E:ﬁgffi?zj‘;:‘ggigﬂﬂ wREE 1,650,000
7.3 AR 3,000 14,000|  -11,000
1.4 H] 3,000 14,000/  -11,000
1. 3,000 14,000|  -11,000
1. [Z]eln]n) 3,000 14,000/  -11,000

1.ouln] 3,000 14,000  -11,000 | ol H1 ¥ (-2 91) © =3,000,000911E+13] = -3,000,000

S H U] (%25) : -8,000,00091*13] = -8.,000,000
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